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(HOME SCIENCE)

1. Colors which are exact opposite to each
other on color wheel are known as

(A) Analogous

(B) Monochromatic
(C) Complimentary
(D) Tetrade

2. Most abundant source of fuel in starvation is
(A) Liver glycogen
(B) Muscle glycogen
(C) Blood glucose
(D) Adipose tissue

3. What is the first step in curriculum
development for extention education?

(A) Selecting text book and resources
(B) Finalizing the evaluation methods
(C) Developing a course syllabus

(D) Conducting a need’s assessment

4. Which one of the following compounds is
synthesized in humans?

(A) Riboflavin
(B) Linoleic acid
(C) Thiamine
(D) Niacin

5. Monoglycerides and diglycerides are used
in variety of foods as a

(A) Coloring agent
(B) Flavoring agent
(C) Caloric booster
(D) Emulsifier
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6. Hydrolysis of triglycerides with alkali is
called as

(A) Titration
(B) Hydrogenation
(C) Saponification
(D) Rancidity

7. What is the period of rapid physical and
mental development in human life-cycle?

(A) Adolescence
(B) Puberty

(C) Childhood
(D) Infancy

8. Which chemical property is responsible for
the brown color in toasted bread?

(A) Caramelization
(B) Oxidation
(C) Fermentation

(D) Enzymatic browning

9. Who introduced the
nanotechnology?

(A) Albert Einstein
(B) Issac Newton
(C) Gordon E. Moore
(D) Richard Feynman

concept of

10. The diet in which the fats and protein are
high and carbohydrates are very low is termed as

(A) Atkins diet

(B) Balanced diet
(C) Keto diet

(D) Gluten-free diet

X4
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11. Which one of the following is having the
property of « — 3 fatty acid?

(A) Anti-inflammatory
(B) Anti-diabetic

(C) Anti-thrombic
(D) Hypolipidemic

12. Which millet crop is mostly grown in Rabi
season?

(A) Sorghum

(B) Finger millet
(C) Pearl millet
(D) Kodo millet

13. Esterlike flavors in butter are resulted from
the action of

(A) P. mephitica
(B) A. hydrophila
(C) P. fragi

(D) P. synxantha

14. The heat stability of milk is judged by
(A) Freezing point
(B) COB
(C) MBRT
(D) Lactometer

15. ‘Menu engineering’ involves
(A) designing visually appealing menus.

(B) studying customer behaviours and
preferances.

(C) developing new menuitemsregularly.

(D) calculating restaurant’s overall profit
margin.
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16. The ‘Deworming programme’ primarily
focuses on

(A) teaching body immunity.
(B) providing hygiene education.

(C) distributing books for health
education.

(D) treating parasitic infections in
children.

17. Which cooking methodis best for preserving
water soluble vitamins in vegetables?

(A) Grilling
(B) Frying
(C) Boiling
(D) Steaming

18. Which synthetic fiber is commonly used
as inflame resistant clothing due to its self
fire-extinguishing properties?

(A) Polyester
(B) Acrylic
(C) Modacrylic
(D) Nylon

19. Type-I error of inference for testing of
hypothesis can be minimized by

(A) selecting lower a for considering the
H, untenable.

(B) selecting greater o for considering
the H, untenable.

(C) selecting large sample size.
(D) selecting small sample size.

20. Individual reflection, contemplation and
meditation are the chief functions of the following
type of communication:

(A) Intrapersonal Communication
(B) Interpersonal Communication
(C) Dyadic Communication

(D) Intracultural Communication
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21. Which of the following is the limitation of
anthropometric method for nutritional status
assessment?

(A) Itis able to detect protein deficiency.
(B) It assess overall nutrition status.

(C) Unable to detect the cause of
nutritional status deviation.

(D) Assess protein and energy linked
nutrition status of the body.

22. When did Janani Suraksha Yojna (JSY)
Launched?

(A) 2005
(B) 2015
(©) 2007
(D) 2000

23. HFCS - 55 means
(A) 55% Fructose and 45% Glucose
(B) 55% Glucose and 45% Fructose
(C) 55% Galactose and 45% Fructose
(D) 55% Sucrose and 45% Maltose

24. During the child bearing stage of the family
life-cycle, whatresource is most commonly sought
by parents?

(A) Emotional support
(B) Financial support
(C) Career support

(D) Educational support

25. Strict restriction of carbohydrates is not
done in a diabetic diet because it can lead to

(A) Constipation
(B) Ketoacidosis
(C) Glycosuria

(D) Steatorrhoea

23-11

21. Sf¥ore RS T T Joifes med
et 2

(A) @i =5fe e aft 77w
(B) IANfEFeIF 5ffRore S_E T 41 |

(C) Rste w7l Rpfen wmy 2Fe i
fefaee =@ |

(D) (=@ (Ao ¢ *fe TIfFs e
SRER ETR F4 |

22. (@ NE Tl T @ (JSY) ©F
2IfRe ?
(A) 2005
(B) 2015
(C) 2007
(D) 2000

23. HFCS - 55 9i¢f

(A) 55% FCIE 4R 45% e
(B) 55% (e @R 45% T3S
(C) 55% U G 45% Flae
(D) 55% et @R 45% I

24. A Gaepce @i Qe 2@ I e
D CFCI (@I T Aol (@ vean =2

(A) SRSyl L
(B) =nfef siefe
(C) IEGR AN
(D) i Al

25. CRIGEGTCIRIG FIRGH IO Az
9 37 1 I @Bre 2re AN

(A) @RI
(B) Grembicetm

(C) arzwmfE
(D) oI

[ Please Turn Over ]



23-11

26. Which food is good source of potassium?
(A) Kiwi
(B) Apple
(C) Banana
(D) Orange

27. The example of the insoluble dietary fibers
include all, except

(A) Pectin
(B) Gums
(C) Mucilage
(D) Cellulose

28. Principle of design does not include
(A) Rhythm
(B) Repeat
(C) Colour
(D) Radiation

29. When students compare and contrast two
different theories, they are operating at which
level of Bloom’s taxonomy?

(A) Application
(B) Comprehension
(C) Synthesis

(D) Knowledge

30. Humanresource parameters are considered
as

(A) Qualitative Variable
(B) Quantitative Variable
(C) Extrinsic Variable
(D) Dependent Variable

26. I AR AR SIteT T ?
(A) 5T (Kiwi)
(B) SICoie
(C) =l
(D) A

27. SERAR AR Tuizgd @I =el Al
AAfeT—

(A) (2RO (Pectin)
(B) ¢ (Gums)

(C) JPTETer (Mucilage)
(D) (efcetrer (Cellulose)
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(A) @REGETS wAfsa e (Qualitative
Variable)

(B) @HGEHS #faadaiie (Quantitative
Variable)

(C) JfZefA AfSe1a1 (Extrinsic Variable)

(D) fSaMa Afaq$a9s (Dependent
Variable)




31. What is the purpose of creating a budget?

(A) Increase spending on non-essential
items

(B) Minimize savings for future goals
(C) Track income and expenses

(D) Encourage impulsive spending

32. From which graphics of data presentation
you can determine percentile and quartile value
out of the following?

(A) Frequency Polygon

(B) Cumulative percentage ogive
(C) Scattergram

(D) Histogram

33. Which of'the following glucose transporters
is important in insulin dependent glucose uptake?

(A) GLUT 1
(B) GLUT 2
(C) GLUT 3
(D) GLUT 4

34. AGMARK is related to
(A) Quality
(B) Packaging
(C) Processing
(D) Production

35. What is primary benefit of dope dyeing in
the textile industry?

(A) Improved fabric strength and
durability
(B) Enhanced color vibrancy and fastness

(C) Reduced water and
consumption

energy

(D) Increased resistance to wrinkles and
creases
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36. Which one is not a permitted food color?
(A) Ponceau
(B) Brilliant blue FCF
(C) Tartrazine
(D) Rhodamine B

37. Codeapplied by ECBC the plot of residential
building built area is

(A) 2500 sq. m
(B) 2525sq.m
(C) £500sg. m
(D) £525s5q. m

38. Which of the following spices contain
eugenol?

(A) Clove

(B) Coriander
(C) Capsicum
(D) Cinnamon

39. Which Indian household fats or oils has
minimum amount of PUFA?

(A) Mustard oil
(B) Soyabean oil
(C) Palm oil

(D) Coconut oil

40. Which of the following is an example of
interpersonal communication rather than mass
communication?

(A) Watching a movie in a theater
(B) Reading a news article online
(C) Texting a friend

(D) Listening to the radio

X-10

36. (@A SIS QM [R 7372
(A) “C (Ponceau)
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(C) SlEreizs
(D) @ B

37. 9IRS ©IE@d 2404 776 «fTwi@a ECBC
I RS 91 (S 2

(A) 2500 sq. m
(B) 2525sq.m
(C) £500sg.m
(D) £525s5q. m

38, RS @I A0S TR A
(A) &re
(B) Iere™
(C) P
(D) P

39. ST ATICS LS (I (S0 TFAIGI
PUFA 9t ?

(A) 0 (o5
(B) IS (o
(C) IS (o5
(D) T (o

40. FeTRewRER N @WESTeTE @it
g 519 st 7932

(A) RECE @I o ol
(B) SR (Rl 473 el
(C) JFJ A G

(D) (Ao ACF A= (<A



X-11

41. In the following food items, which one has
the highest ‘Glycemic Index’?

(A) Cornflakes
(B) Brown rice
(C) Ice-cream
(D) Whole wheat bread

42. Which one is the low-calorie Artificial
Sweetener?

(A) Sucralose
(B) Saccharin
(C) Polyols

(D) Acelsulfame

43. The protein portion of the enzyme is known
as
(A) Apoenzyme
(B) Coenzyme
(C) Holoenzyme
(D) Cofactor

44. Inwhichagerange, pubertal growth spurtis
noted?
(A) 8-10 years
(B) 14 — 18 years
(C) 12 - 14 years
(D) 10-12 years

45. Which of the following components of a
dye are used in textile?
1. Auxochrome
2. Chromophore
3. Pigment
4. Ink

Which code is correct?
(A) 1and3
(B) 2and 3
(C) 1and 4
(D) 1and?2

23-11
41. e ampefer sw @it wicoms @
AR 2
(A) T
(B) QEH Bls
(C) -

(D) ANAFSIE I Fo

42. T95- IR Pl NFSmEs @0 2
(A) Jgrete
(B) It
(C) “lferes™
(D) ST

43. TR (ABITE S @ 2
(A) Syitollaaeias
(B) (lawenzs
(C) ZENGTEIE
(D) IFIE

44. RSN I (AT (P IACT (] AR 2
(A) 8-10<=d
(B) 14 -18<=7
(©C) 12-149=7
(D) 10-123=dg

45. (GIORE TaTe R FNE Soiwia 2

1. SFCNCEN
2. (TP
3. G
4. Jifer (Ink)

@I @Ie’ A2

(A) 193

(B) 293

(C) 1494

(D) 192

[ Please Turn Over ]



23-11

46. Sustainable Development Goals are targeted
to be achieved by the year

(A) 2025
(B) 2030
(C) 2035
(D) 2045

47. How will youminimize type-Il errorincase
of hypothesis testing?

(A) Increasing probability level of
significance

(B) Decreasing probability level of
significance

(C) Increasing sample size
(D) Decreasing sample size

48. Which of the following is a potential
consequence of early and forced marriages during
adolescence girls?

(A) Improved mental health

(B) Increased risk of domestic violence
and health issues

(C) Higher education attainment
(D) Greater financial stability

49. Children who see the street as their home
where they seek shelter, food, companionship and
profession

(A) Children on the street
(B) Children of the street
(C) Street children

(D) Abandoned children

50. Indisaster affected areas, whatis the primary
cause of nutritional imbalances among the
population?

(A) Limited access to diverse and
nutritious foods

(B) Lack of consumption of vitamin
(C) Excessive water intake
(D) Lack of dietary supplement
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51. What is the relationship among man,
machine and environment in ergonomics?

(A) Man adapts to the machine and
environment.

(B) Machine adapts
environment.

to man and

(C) Environment adapts to man and
machine.

(D) Allthree elements adapt to each other.

52. InlIndia, mostcases of Megaloblastic anemia
are due to deficiency of

(A) Iron and Cobalt

(B) Iron and Zinc

(C) Pyridoxine and Copper
(D) Folic acid and Vitamin B,

53. Colonicbacteria, on fermentation of dietary
fibers would give

(A) Free radicals
(B) Butyrate
(C) Glycerol
(D) Sucrose

54. The free radical theory of aging is given by
(A) Johan Bjorksten (1942)
(B) Denham Harman (1956)
(C) Johan Bjorksten (1950)

(D) Denham Harman and Johan Bjorksten
(1950)

55. Which theory is most associated with
domestic violence?

(A) Lenore Walker’s cycle of violence
(B) Goode’s resources theory

(C) Exchange theory

(D) Social learning theory
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56. Which group of communication aspects
does not distort the communication process in the
class?

(A) Focusing — illustrating —
exaggerating

(B) Evaluating — focusing —
exaggerating

(C) Evaluating— focusing—illustrating
(D) Reversing — evaluating — focusing

57. Which type of diet is most suitable for
management of CNS dysfunction?

(A) DASH diet

(B) Meditarian diet
(C) Ketogenic diet
(D) Vegetarian diet

58. Full form of FSSAI is

(A) Food Security and Standard
Association of India

(B) Food Security and Safety Authority
of India

(C) Food Safety and Standard Association
of India

(D) Food Safety and Standard Authority
of India

59. French roof is known as
(A) Mansard roof
(B) Curb roof
(C) Butterfly roof
(D) Both (A) and (B)

60. Which type of window has greater ceiling
height than surrounding room?

(A) Bay and Bow window
(B) Clere-storey window
(C) Double Hung window
(D) Corner window
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56. Q@SN MR @I g6l FIT @iaNctel
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(A) TEHRFERID SIS 35S SRR
o B
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(D) T© O SIS e et o
e
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(B) IF =M
(C) TP =W
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60. (I 4R Tl PiiEi Thel SRR
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(A) @GR & GiaE (Bay and Bow)
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(C) TIFs1 2R @iiiel (Double Hung)
(D) @9IE iiel (Corner)
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61. Which challenge is often associated with
high population growth rates in developing
countries?

(A) Declining work force productivity
(B) Increased demand for natural resources
(C) Increased demand for humanresources
(D) Declining in poverty rates

62. To conduct patient counselling, the
counsellor must emphasized on

(A) only close-ended question
(B) only open-ended question

(C) blended mode where open-ended
questions are more

(D) blended mode where close-ended
questions are more

63. Deficiency of which vitamin is associated
with ‘Neural Tube’ defects?

(A) Vitamin B3
(B) Vitamin B6
(C) Vitamin B9
(D) Vitamin B12

64. The red color of beet is due to the presence
of pigment.

(A) Lycopene
(B) Beta-carotene
(C) Curcumin

(D) Betalain

65. Insoap formation saponification is done by
(A) alkali
(B) acid
(C) salt

(D) antioxidant
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(A) TBIfs® B3
(B) feGifse B6
(C) fBifsE B9
(D) feBifs® B12
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(A) =R
(B) R
(C) Pl
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66. Which of the following is associated with a
low concentration of ionized calcium in the serum?

(A) Hypothyroidism

(B) Osteogenesis imperfecta
(C) Paget’s disease of the bone
(D) Tetany

67. What is eLENA?

(A) North American learning and
education system

(B) An online slimming method
(C) A WHO database

(D) A method for reducing fat in
commercial products

68. Which grain does not contain gluten?
(A) Wheat
(B) Barley
(C) Rye
(D) Oats

69. Which type of iron should be used on fabric
like silk and satin to avoid damage?

(A) Dry iron
(B) Steam iron
(C) Cordless iron

(D) Travel iron

70. What is a common physical change
associated with aging?

(A) Decreased muscle mass and bone mass
(B) Decreased neural reflex reaction time
(C) Increased cellular metabolism

(D) Increased physical activity and
endurance
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71. Which amendment to the Indian
Constitution brought about significant changes in
the ‘Panchayati Raj System’?

(A) 42nd Amendment
(B) 73rd Amendment
(C) 44th Amendment
(D) 86th Amendment

72. Whatdoes the acronym ‘WIC’ stand for the
context of nutrition and health programme?
(A) Women’s Indusive Care
(B) Women and Immunity Center
(C) Women, Infant and Children
(D) Worldwide International Clinic

73. What is the first step in the main power
planning process?
(A) Developing a recruitment strategy
(B) Identifying the skills require for each

job

(C) Forecasting future business
requirement

(D) Developing an unemployment
strategy

74. In ‘Dietary Counselling’ process, the
counsellor provides to the patient
(A) order or command for changing
dietary habits.
(B) documentsforknowledge upgradation
in connection with health promotion.

(C) advice/suggestions for health-friendly
attitude and practice adoption for
disease prevention and recovery.

(D) suggestions for medical treatment or
surgery.

75. The smallest unit of heredity is
(A) Chromosome
(B) Nucleotide
(C) Codon
(D) Gene
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76. Fruits, vegetables and whole grains are
excellent sources of which of the following
nutrients?

(A) Carbohydrate and fiber
(B) Carbohydrate and fat
(C) Protein and fat

(D) Protein and vitamin

77. Among the following, principal protein in
rice is
(A) Casein
(B) Zein
(C) Oryzenin
(D) Lysine

78. Gluten-free diet should be recommended
for patient suffering from

(A) Hepatic disorder

(B) Renal disorder

(C) Gastrointestinal disorder
(D) Dislipidimia

79. Which of the following methods is used to
study protein-protein interaction?

(A) Western blot

(B) Ion-exchange chromatography
(C) Thin-layer chromatography
(D) Electrolysis

80. For infant’s brain development, the most
important lipids are

(A) Lindenic acid and Palmitic acid

(B) Arachidonic acid and Docosa
hexaenoic acid

(C) Stearic acid and Linoleic acid

(D) Eicosapentaenoic acid and Caprylic
acid
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81. Iodine test is used to detect as
an adulterant in milk and milk products.

(A) formaldehyde
(B) boric acid
(C) starch

(D) sodium bicarbonate

82. ‘Empty nest syndrome’ is noted at
(A) Childhood
(B) Adolescence
(C) Early adulthood
(D) Late adulthood

83. What can be a potential consequence of
impairment of nutrition during emergencies of
pregnant women?

(A) Extended gestation period
(B) Low birth weight of infants
(C) Complexcity in pregnancy

(D) Interfere cognitive development of
infant

84. Which of the following factors can
contribute to children becoming destitute?

(A) Family support

(B) Poverty and neglect
(C) Physical environment
(D) Genetic factor

85. Which factor can decrease the iron
absorption from the food?

(A) Phytate

(B) Ascorbic acid

(C) HCI (Hydrochloric acid)
(D) Gastric secretion
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86. A fabricused for outer wear in plain or twill
weave in wool or as a mixture of light or medium
weight and is raised from one or both sides

(A) Flannel
(B) Chariot
(C) Tweed
(D) Afgalaine

87. Which factor is crucial for the success of
non-formal education programmes?

(A) Fixed schedule and adaptable
curriculum

(B) Flexibility and adaptibility to learn

(C) Collaboration with formal education
institutions

(D) Highlyformalized assessment method

88. What is the main function of the food
pyramid?

(A) To provide a balanced meal plan
(B) To encourage healthy eating habits
(C) To promote weight loss

(D) To guide micronutrient control

89. Theearliest signs of neonates attitude to the
outer world is termed as by Freud.

(A) eros feeling

(B) oceanic feeling
(C) tidal feeling
(D) sea wave feeling

90. According to FSSAI rules class II
preservatives includes all, excepr—

(A) Sodium benzoate
(B) Sorbate

(C) Propionate

(D) Honey
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91. Arrangethe correctsequence in preparation
of fabric for clothing construction:

1. Blocking
2. Shrinking
3. Pressing
4. Straightening

Codes:

(A) 1,2,3,4
(B) 2,4,1,3
©) 4,1,2,3
(D) 3,4,1,2

92. According to Prang system which color
combinations are known as secondary color?

(A) Red + Green
(B) Red + Yellow
(C) Orange + Blue
(D) Violet + Blue

93. Vanaspati is manufactured by
(A) Saponification
(B) Hydrogenation
(C) Oxidation polymerization
(D) Reduction polymerization

94. The intrinsic factor for vitamin B12
absorption is produced in the .

(A) Liver

(B) Stomach
(C) Pancreas
(D) Duodenum

95. Which of this hormone is secreted by the
liver?

(A) Renin

(B) Somatomedin
(C) Erythropoietin
(D) Natriuretic factor
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96. Lissapol is a
(A) stain removal agent.
(B) UV protection and sunblock agent.
(C) wetting agent.
(D) levelling agent.

97. is simple running stich, used to
fill the straight/curved lines in floral design.

(A) Mussi

(B) Phanda
(C) Khatawa
(D) Taipchi

98. Which one of the following is not a ®-3
fatty acid?

(A) Alpha linolenic acid
(B) Gamma linolenic acid
(C) Clupanodonic acid
(D) Cervonic acid

99. Whichofthe following vitaminsis necessary
for maturation of blood precursor cells?

(A) Vitamin A
(B) Thiamine
(C) Riboflavin
(D) Cyano-cobalamine

100. Shigellosis is
(A) self-limiting infection of the stomach.
(B) self-limiting infection of the colon.
(C) self-limiting infection of the intestine.
(D) self-limiting infection of the liver.
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